                                   1 задание                                                                                            
	а
	b
	c

	6
	8
	

	12
	
	
[image: image1.wmf]3

8



	
	
[image: image2.wmf]3

7


	14


           Решение:                                                                                                  
	с²=а²+b²
	с²=а²+b²
	с²=а²+b²

	c2 = 
	b²  =
	a²  =

	c2 = 
	b²  =
	a²  =

	c = 
	b²  =
	a²  =

	
	b =
	a =


-----------------------------------------------------------------------------------------------------




                                       2 задание
	a
	b
	c

	12
	5
	

	5
	
	
[image: image3.wmf]61



	
	
[image: image4.wmf]3

8


	16


          Решение:    
	с²=а²+b²
	с²=а²+b²
	с²=а²+b²

	c2 = 
	b²  =
	a²  =

	c2 = 
	b²  =
	a²  =

	c = 
	b²  =
	a²  =

	
	b =
	a =


            
            Дано: ∆АВС,

            АВ=ВС=17 см, 
            АС=16 см,  


            BH(AC
            Найти: BH.

            Решение:

C





A





H





B





A





B 





C





b





c





a





A





B 





C





b





c





a





B





H





C





A








_1446475385.unknown

_1446475831.unknown

_1224564631.unknown

